Nonlinear Functional Analysis and Applications Vol. 18, No. 4 (2013), pp. 579-590

http://nfaa.kyungnam.ac.kr/jour-nfaa.htm Copyright © 2013 Kyungnam University Press



### A INTEGRAL EQUATION RELATED TO THE MACROECONOMIC MODELS

Tran Minh Thuyet<sup>1</sup>, Le Thi Phuong  $Ngoc^2$ and Nguyen Thanh Long<sup>3</sup>

<sup>1</sup>Department of Mathematics, University of Economics of Ho Chi Minh City Ho Chi Minh City, Vietnam e-mail: tmthuyet@ueh.edu.vn

> <sup>2</sup>Nhatrang Educational College 01 Nguyen Chanh Str., Nhatrang City, Vietnam e-mail: ngoc1966@gmail.com

<sup>3</sup>Department of Mathematics and Computer Science, University of Natural Science Vietnam National University Ho Chi Minh City 227 Nguyen Van Cu Str., Dist. 5, Ho Chi Minh City, Vietnam e-mail: longnt2@gmail.com

**Abstract.** The paper is devoted to the study of a Volterra integral equation of the second kind related to the macroeconomic models. Using contraction mapping principle and some techniques of nonlinear analysis, the uniqueness existence, approximation and asymptotic expansions of solutions with respect to small parameters appeared in the model are established.

#### 1. INTRODUCTION

In [1], [2], from the analysis of macroeconomic models as the Harrod-Domar model, Phillips, or Leontief model and other models, S. I. Chernyshov and the authors have pointed out the need to establish a model in which the integral equation is used to model the process of economic. Specifically, in [1], a methodology based on balance relations for modelling of economic dynamics, including forecast estimates, is developed. The problems considered are reduced to Volterra and Fredholm integral equations of the second kind, such

<sup>&</sup>lt;sup>0</sup>Received July 30, 2013. Revised October 16, 2013.

 $<sup>^02000</sup>$  Mathematics Subject Classification: 34E05, 45D05.

<sup>&</sup>lt;sup>0</sup>Keywords: A Volterra integral equation of the second kind, contraction mapping principle, approximation of solutions, an asymptotic expansion of solutions.

as the following integral

$$x(t) = q(t) + \int_{1}^{t} k(t, s) x(s) ds, \ t \ge 1,$$
(1.1)

where

$$\begin{cases} k(t,s) = -\alpha - \beta - \frac{\beta - s}{t}, \\ q(t) = -\alpha - \frac{\beta - (1-t)}{t}Y_1' + \frac{\gamma}{t}Y_1, \end{cases}$$
(1.2)

 $\alpha, \beta, \gamma, Y_1, Y'_1$  are given constants, the solution of this equation can be found via the procedure of successive approximations (see [1], page 15).

The above ideas leads to study the existence and some properties of the solution of Eq. (1.1). Note that, by the transformation  $t = \tau + 1$ , s = r + 1,  $\tau \ge 0$ ,  $r \ge 0$ , and setting

$$\begin{cases} \bar{x}(\tau) = x(t) = x(\tau+1), \\ \bar{q}(\tau) = q(t) = q(\tau+1) = -\alpha - \frac{\beta+\tau}{\tau+1}Y_1' + \frac{\gamma}{\tau+1}Y_1, \\ \bar{k}(\tau,r) = k(t,s) = k(\tau+1,r+1) = -\alpha - \beta - \frac{\beta-1-r}{\tau+1}, \end{cases}$$
(1.3)

then Eq. (1.1) has the form

$$\bar{x}(\tau) = \bar{q}(\tau) + \int_0^\tau \bar{k}(\tau, r)\bar{x}(r)dr, \ \tau \ge 0,$$
(1.4)

with  $\bar{q} \in C^{\infty}(\mathbb{R}_+)$ ,  $\bar{k} \in C^{\infty}(\Delta)$ ,  $\Delta = \{(\tau, r) \in \mathbb{R}^2_+ : r \leq \tau\}$ .

This paper consists of five sections. In section 2, the uniqueness existence and some properties of the solution are proved. Section 3 presents an approximate of a solution of Eq. (1.1) by a convergent sequence of polynomials. Finally, in sections 4 and 5, asymptotic expansions of solutions with respect to small parameters appeared in the model are established.

#### 2. The existence and some properties of solutions

We rewrite Eq. (1.4) as follows

$$x(t) = q(t) + \int_0^t k(t,s)x(s)ds, \ t \ge 0,$$
(2.1)

where

$$\begin{cases} q(t) = -\alpha - \frac{\beta + t}{t+1} Y_1' + \frac{\gamma}{t+1} Y_1, \ t \ge 0, \\ k(t,s) = -\alpha - \beta - \frac{\beta - 1 - s}{t+1}, \ 0 \le s \le t. \end{cases}$$
(2.2)

Because  $\alpha, \beta, \gamma, Y_1, Y'_1$  are given constants, it is clear that  $q \in C^{\infty}(\mathbb{R}_+)$  and  $k \in C^{\infty}(\Delta)$ ,  $\Delta = \{(t, s) \in \mathbb{R}^2_+ : s \leq t\}.$ 

**Theorem 2.1.** With the functions q, k defined by (2.2), Eq.(2.1) has a unique solution  $x \in C^{\infty}(\mathbb{R}_+)$ .

*Proof.* Using contraction mapping principle, it is not difficult to show that for any T > 0, Eq. (2.1) has a unique solution  $x \in C([0, T])$  satisfying

$$x(t) = q(t) + \int_0^t k(t,s)x(s)ds, \ 0 \le t \le T.$$
(2.3)

On the other hand, we have

$$|x(t)| \le \sup_{0 \le t \le T} |q(t)| + \sup_{0 \le s \le t \le T} |k(t,s)| \int_0^t |x(s)| \, ds, \ 0 \le t \le T,$$
(2.4)

by applying Gronwall's lemma, it implies that

$$|x(t)| \le \sup_{0 \le t \le T} |q(t)| \exp\left(T \sup_{0 \le s \le t \le T} |k(t,s)|\right) \equiv C_T, \ 0 \le t \le T.$$
(2.5)

Therefore, it can be extended to obtain a unique solution  $x \in C^0(\mathbb{R}_+)$  of Eq. (2.1). Furthermore, the right hand side of (2.1) is the function  $H_1(t)$  with its derivative as follows

$$H_1'(t) = q'(t) + k(t,t) \ x(t) + \int_0^t \frac{\partial k}{\partial t}(t,s)x(s)ds, \qquad (2.6)$$

so  $H_1 \in C^1(\mathbb{R}_+)$ . Hence,  $x \in C^1(\mathbb{R}_+)$ . The same manner leads to  $x \in C^2(\mathbb{R}_+)$ ,  $x \in C^3(\mathbb{R}_+)$ ,  $\cdots$ ,  $x \in C^k(\mathbb{R}_+)$ , for all  $k = 1, 2, \cdots$ , it means that  $x \in C^{\infty}(\mathbb{R}_+)$ .

**Theorem 2.2.** Assume  $x_0 \in C([0,T])$  and let the recurrent sequence  $\{x_m\}$  be defined by

$$x_m(t) = q(t) + \int_0^t k(t,s) x_{m-1}(s) ds, \ 0 \le t \le T, \ m = 1, 2, \cdots.$$
 (2.7)

Then

$$\sup_{0 \le t \le T} |x_m(t) - x(t)| \to 0, \ as \ m \to +\infty.$$
(2.8)

*Proof.* By applying the contraction mapping principle, Theorem 2.2 can easily be proven.  $\Box$ 

According to the Weierstrass Theorem, for any T > 0, the functions q(t), k(t, s) are approximated by sequences of polynomials with an variable or two variables  $\{q_n(t)\}, \{k_n(t,s)\}$ , respectively. Let  $x_n(t)$  be the solution of (2.1) corresponding to  $q(t) = q_n(t), k(t,s) = k_n(t,s)$ .

Then we have the following theorem.

**Theorem 2.3.** Assume that

$$\begin{cases} \|q_n - q\|_{C([0,T])} \equiv \sup_{0 \le t \le T} |q_n(t) - q(t)| \to 0, \\ \|k_n - k\|_{C(\Delta_T)} \equiv \sup_{0 \le s \le t \le T} |k_n(t,s) - k(t,s)| \to 0, \end{cases}$$
(2.9)

(2.10)

as  $n \to +\infty$ , with  $\triangle_T = \{(t,s) : 0 \le s \le t \le T\}$ . Then  $\lim_{n \to +\infty} \|x_n - x\|_{C([0,T])} = 0.$ 

Furthermore

$$\|x_n - x\|_{C([0,T])} \le C\left(\|q_n - q\|_{C([0,T])} + \|k_n - k\|_{C(\triangle_T)}\right),$$
(2.11)

for all  $n \in \mathbb{N}$ , where C is a constant independent of n.

*Proof.* Note that  $x_n(t)$  satisfies the following equation

$$x_n(t) = q_n(t) + \int_0^t k_n(t,s) x_n(s) ds, \ 0 \le t \le T.$$
(2.12)

Putting  $y_n(t) = x_n(t) - x(t)$ , it follows from (2.1) and (2.12) that

$$y_n(t) = q_n(t) - q(t) + \int_0^t \left(k_n(t,s) - k(t,s)\right) x_n(s) ds + \int_0^t k(t,s) y_n(s) ds.$$
(2.13)

Consequently

$$|y_{n}(t)| \leq |q_{n}(t) - q(t)| + \int_{0}^{t} |k_{n}(t,s) - k(t,s)| |x_{n}(s)| ds + \int_{0}^{t} |k(t,s)| |y_{n}(s)| ds \leq ||q_{n} - q||_{C([0,T])} + T ||k_{n} - k||_{C(\Delta_{T})} ||x_{n}||_{C([0,T])} + ||k||_{C(\Delta_{T})} \int_{0}^{t} |y_{n}(s)| ds.$$

$$(2.14)$$

Applying Gronwall's Lemma, (2.14) leads to

$$|y_n(t)| \leq \left[ \|q_n - q\|_{C([0,T])} + T \|k_n - k\|_{C(\triangle_T)} \|x_n\|_{C([0,T])} \right] \exp(T \|k\|_{C(\triangle_T)}),$$
(2.15)

for all  $t \in [0, T]$ . Thus

$$||x_n - x||_{C([0,T])} \le \left[ ||q_n - q||_{C([0,T])} + T ||k_n - k||_{C(\Delta_T)} ||x_n||_{C([0,T])} \right] \exp(T ||k||_{C(\Delta_T)}).$$
(2.16)

Moreover, (2.9) and (2.12) give the following inequality

$$|x_n(t)| \le ||q_n||_{C([0,T])} + ||k_n||_{C(\triangle_T)} \int_0^t |x_n(s)| \, ds, \ 0 \le t \le T.$$
(2.17)

Continuing applying Gronwall's Lemma, we conclude from (2.9) and (2.17) that

$$\|x_n\|_{C([0,T])} \le \|q_n\|_{C([0,T])} \exp(T \|k_n\|_{C(\Delta_T)}) \le C, \ \forall n = 1, 2, \cdots,$$
 (2.18)

where C is a constant independent of n. Combining (2.16), (2.18), we obtain (2.11) and (2.10) follows.  $\Box$ 

# 3. An approximate of a solution by a convergent sequence of polynomials

In the above section,  $\{x_n\}$  is defined by (2.12) so it may be not a sequence of polynomials. However, we can establish  $\{x_n\}$  such that it is a sequence of polynomials and it convergences to a solution of (2.1).

For every T > 0, according to the Weierstrass Theorem, the functions q(t), k(t, s) are approximated by sequences of polynomials with an variable or two variables  $\{q_n(t)\}, \{k_n(t, s)\}$ , respectively, given by

$$q_n(t) = \sum_{k=0}^n q_k^{(n)} t^k, \ k_n(t,s) = \sum_{i+j \le n} k_{ij}^{(n)} t^i s^j, \|q_n - q\|_{C([0,T])} \to 0, \ \|k_n - k\|_{C(\triangle_T)} \to 0.$$
(3.1)

We shall construct the recurrent sequence  $\{x_n\}$  below

$$\begin{cases} x_0(t) = 0, \\ x_n(t) = q_n(t) + \int_0^t k_n(t, s) x_{n-1}(s) ds, \ 0 \le t \le T, \ n = 1, 2, \cdots. \end{cases}$$
(3.2)

It is clear to see that  $\{x_n(t)\}\$  is a sequence of polynomials with an variable t, and the following property is fulfilled.

#### Theorem 3.1.

$$\lim_{n \to +\infty} \|x_n - x\|_{C([0,T])} = 0.$$

*Proof.* In order to prove Theorem 3.1, we need the following lemma.

**Lemma 3.2.** Let  $A, B \ge 0$  be reals given, let  $\{z_n\} \subset C(\mathbb{R}_+)$  be a sequence of continuous functions and positive such that

$$z_n(t) \le A + B \int_0^t z_{n-1}(s) ds, \ t \ge 0, \ n = 1, 2, \cdots .$$
  

$$z_0 \in C(\mathbb{R}_+), \ z_0(t) \ge 0, \ t \ge 0.$$
(3.3)

Then

(i) 
$$z_n(t) \leq A \left[ 1 + Bt + B^2 \frac{t^2}{2} + B^3 \frac{t^3}{3!} + \dots + B^k \frac{t^k}{k!} \right]$$
  
  $+ B^{k+1} \frac{t^k}{k!} \int_0^t z_{n-k-1}(r) dr,$   
  $t \geq 0, \quad k = 0, 1, 2, \dots, n-1; \quad n = 1, 2, \dots,$   
(ii)  $z_n(t) \leq A \left[ 1 + Bt + B^2 \frac{t^2}{2} + B^3 \frac{t^3}{3!} + \dots + B^{n-1} \frac{t^{n-1}}{(n-1)!} \right]$   
  $+ B^n \frac{t^{n-1}}{(n-1)!} \int_0^t z_0(r) dr, \quad t \geq 0, \quad n = 1, 2, \dots.$  (3.4)

*Proof.* The proof of Lemma 3.2 can be done relatively easily by induction.  $\Box$ 

Now, we show that  $\{x_n(t)\}\$  is bounded in C([0,T]).

Because  $||q_n - q||_{C([0,T])} \to 0$ ,  $||k_n - k||_{C(\triangle_T)} \to 0$ , there exists two positive reals A, B such that

$$||q_n||_{C([0,T])} \le A, ||k_n||_{C(\triangle_T)} \le B, \forall n = 1, 2, \cdots.$$
 (3.5)

On the other hand, by (3.2) we get

$$|x_n(t)| \le A + B \int_0^t |x_{n-1}(s)| \, ds, \ 0 \le t \le T, \ n = 1, 2, \cdots.$$
(3.6)

Using Lemma 3.2, (3.4) (ii), in which  $z_n(t) = |x_n(t)|, z_0(t) = |x_0(t)| = 0$ , (3.6) leads to

$$|x_n(t)| \le A \left[ 1 + Bt + B^2 \frac{t^2}{2} + B^3 \frac{t^3}{3!} + \dots + B^{n-1} \frac{t^{n-1}}{(n-1)!} \right]$$
  
$$\le A \exp(Bt), \quad 0 \le t \le T, \quad n = 1, 2, \cdots.$$
(3.7)

Next, we show that  $\lim_{n \to +\infty} \|x_n - x\|_{C([0,T])} = 0.$ Putting  $y_n(t) = x_n(t) - x(t)$  and

$$\bar{q}_n(t) = q_n(t) - q(t), \ \bar{k}_n(t,s) = k_n(t,s) - k(t,s).$$
 (3.8)

It implies from (2.1) and (3.2) that

$$y_n(t) = \bar{q}_n(t) + \int_0^t \bar{k}_n(t,s) x_{n-1}(s) ds + \int_0^t k(t,s) y_{n-1}(s) ds.$$
(3.9)

Since  $|x_n(t)| \leq A \exp(Bt)$ , (3.5) and (3.9) yield

$$|y_n(t)| \le \|\bar{q}_n\|_{C([0,T])} + \frac{A}{B} \exp(BT) \|\bar{k}_n\|_{C(\Delta_T)} + B \int_0^t |y_{n-1}(s)| \, ds. \quad (3.10)$$

For all  $\varepsilon > 0$ , by

$$\|\bar{q}_n\|_{C([0,T])} = \|q_n - q\|_{C([0,T])} \to 0, \ \|\bar{k}_n\|_{C(\triangle_T)} = \|k_n - k\|_{C(\triangle_T)} \to 0,$$

there exists  $n_0 \in \mathbb{N}$  such that

$$\|\bar{q}_n\|_{C([0,T])} + \frac{A}{B}\exp(BT) \left\|\bar{k}_n\right\|_{C(\triangle_T)} < \frac{\varepsilon}{2\exp(BT)}, \quad \forall n \ge n_0.$$
(3.11)

Consequently

$$|y_n(t)| \le \frac{\varepsilon}{2\exp(BT)} + B \int_0^t |y_{n-1}(s)| \, ds, \ \forall n \ge n_0.$$
(3.12)

Using Lemma 3.2 again, (3.4)(i), with  $z_n(t) = |y_n(t)|$ ,  $A = \frac{\varepsilon}{2 \exp(BT)}$ ,  $k = n - n_0$ , we obtain

$$|y_{n}(t)| \leq \frac{\varepsilon}{2\exp(BT)} \left[ 1 + Bt + B^{2} \frac{t^{2}}{2} + B^{3} \frac{t^{3}}{3!} + \dots + B^{n-n_{0}} \frac{t^{n-n_{0}}}{(n-n_{0})!} \right] + B^{n-n_{0}+1} \frac{t^{n-n_{0}}}{(n-n_{0})!} \int_{0}^{t} |y_{n_{0}-1}(r)| dr \leq \frac{\varepsilon}{2\exp(BT)} \exp(BT) + B \frac{(BT)^{n-n_{0}}}{(n-n_{0})!} \int_{0}^{T} |y_{n_{0}-1}(r)| dr \leq \frac{\varepsilon}{2} + B \frac{(BT)^{n-n_{0}}}{(n-n_{0})!} \int_{0}^{T} |y_{n_{0}-1}(r)| dr, \ \forall n \geq n_{0}.$$

$$(3.13)$$

Since  $B \frac{(BT)^{n-n_0}}{(n-n_0)!} \int_0^T |y_{n_0-1}(r)| dr \to 0$ , there exists  $n_1 > n_0$  such that

$$B\frac{(BT)^{n-n_0}}{(n-n_0)!} \int_0^T |y_{n_0-1}(r)| \, dr < \frac{\varepsilon}{2}, \quad \forall n \ge n_1.$$
(3.14)

Combining (3.13) and (3.14), the result is

$$|y_n(t)| < \varepsilon, \quad \forall n \ge n_1, \quad \forall t \in [0, T].$$
 (3.15)

This ends the proof of Theorem 3.1.

## 4. An asymptotic expansion of the solution with respect to $\beta$

In this section, we consider an asymptotic expansion of the solution of (2.1) with respect to  $\beta$ . When  $\beta = 0$ , Eq. (2.1) has the form

$$x(t) = q_0(t) + \int_0^t k_0(t, s) x(s) ds, \ t \ge 0,$$
(4.1)

where

$$\begin{cases} q_0(t) = -\alpha - \frac{Y_1't - \gamma Y_1}{t+1}, \ t \ge 0, \\ k_0(t,s) = -\alpha + \frac{1+s}{t+1}, \ t \ge 0, \ s \ge 0. \end{cases}$$
(4.2)

585

Assume that  $x_0(t)$  is a solution of (4.1). Let us denote by  $x_1(t), \dots, x_N(t)$ , the solutions of the following integral equations respectively

$$\begin{aligned} x_1(t) &= q_1(t) + \int_0^t k_0(t,s) x_1(s) ds, \quad t \ge 0, \\ x_2(t) &= q_2(t) + \int_0^t k_0(t,s) x_2(s) ds, \quad t \ge 0, \\ &\vdots \\ x_N(t) &= q_N(t) + \int_0^t k_0(t,s) x_N(s) ds, \quad t \ge 0, \end{aligned}$$
(4.3)

in which

$$\begin{cases} q_1(t) = -\frac{Y'_1}{t+1} + \frac{t+2}{t+1} \int_0^t x_0(s) ds, & t \ge 0, \\ q_i(t) = \frac{t+2}{t+1} \int_0^t x_{i-1}(s) ds, & i = 2, 3, \cdots, t \ge 0. \end{cases}$$
(4.4)

Suppose that x(t) is a solution of (2.1). Then  $y(t) = x(t) - \sum_{i=0}^{N} \beta^{i} x_{i}(t)$  is a solution of the following integral equation

$$y(t) = \beta^{N+1}\bar{q}(t) + \int_0^t k(t,s)y(s)ds, \ t \ge 0,$$
(4.5)

with

$$\bar{q}(t) = \frac{t+2}{t+1} \int_0^t x_N(s) ds, \ t \ge 0.$$
(4.6)

It follows from (4.5) that

$$z(t) \le 2a^2(t) + 2b^2(t) \int_0^t z(s)ds, \qquad (4.7)$$

where

$$z(t) = y^{2}(t), \ a(t) = \left|\beta\right|^{N+1} \left|\bar{q}(t)\right|, \ b(t) = \sqrt{\int_{0}^{t} k^{2}(t,s) ds}, \ t \ge 0.$$
(4.8)

Using Gronwall's Lemma again, from (4.7), we obtain

$$z(t) \le 2a^2(t) + 4b^2(t) \int_0^t a^2(s) \exp\left[2\int_s^t b^2(r)dr\right] ds, \ t \ge 0.$$
(4.9)

or

$$y^{2}(t) \le 2\Phi(t)\beta^{2N+2}, \ t \ge 0,$$
 (4.10)

with

$$\Phi(t) = \bar{q}^2(t) + 2b^2(t) \int_0^t \bar{q}^2(s) \exp\left[2\int_s^t b^2(r)dr\right] ds.$$
(4.11)

Chosing  $\beta$  small enough, such as  $|\beta| \leq 1$ , the function k(t, s) is bounded by a constant independent of  $\beta$ , because of the fact that

$$|k(t,s)| \le \left| -\alpha - \beta - \frac{\beta - 1 - s}{t + 1} \right| \le |\alpha| + |\beta| + \frac{|\beta| + 1 + s}{t + 1} \le |\alpha| + 3,$$
  
$$\forall \alpha \in \mathbb{R}, \quad \forall \beta \in [-1,1], \quad t,s \in \mathbb{R}_+, \quad s \le t.$$

$$(4.12)$$

The result is

$$b^{2}(t) = \int_{0}^{t} k^{2}(t,s) ds \leq (|\alpha|+3)^{2} t,$$
  
$$\int_{s}^{t} b^{2}(r) dr \leq (|\alpha|+3)^{2} \left(\frac{t^{2}}{2} - \frac{s^{2}}{2}\right).$$
(4.13)

We get

$$\Phi(t) \leq \bar{q}^2(t) + 2\left(|\alpha| + 3\right)^2 t \int_0^t \bar{q}^2(s) \exp\left[\left(|\alpha| + 3\right)^2 \left(t^2 - s^2\right)\right] ds$$
  
=  $\Psi^2(t),$  (4.14)

for all  $t \ge 0$ , where  $\Psi(t)$  is continuous in  $\mathbb{R}_+$ , independent of  $\beta$ . Obviously,  $\Psi(t) \ge 0$ ,  $\forall t \ge 0$ . From (4.10) and (4.14), we obtain the following theorem.

**Theorem 4.1.** There exists the function  $\Psi \in C(\mathbb{R}_+)$  independent of  $\beta$  such that

$$\left| x(t) - \sum_{i=0}^{N} \beta^{i} x_{i}(t) \right| \leq \sqrt{2} \Psi(t) \left| \beta \right|^{N+1}, \ t \geq 0,$$
(4.15)

where  $x_0(t), x_1(t), \dots, x_N(t)$  are defined by (4.1)-(4.4).

#### 5. An asymptotic expansion of the solution with respect to $\alpha, \beta$

This section gives an asymptotic expansion of the solution of (2.1) with respect to  $\alpha, \beta$ . When  $\alpha = \beta = 0$ , (2.1) has the form

$$x(t) = \bar{q}_0(t) + \int_0^t \bar{k}_0(t,s)x(s)ds, \ t \ge 0,$$
(5.1)

where

$$\begin{cases} \bar{q}_0(t) \equiv \bar{q}_{0,0}(t) = -\frac{Y_1't - \gamma Y_1}{t+1}, \quad t \ge 0, \\ \bar{k}_0(t,s) \equiv \bar{k}_{0,0}(t,s) = \frac{1+s}{t+1}, \quad t \ge 0, \quad s \ge 0. \end{cases}$$
(5.2)

Let  $\bar{x}_0(t) \equiv \bar{x}_{0,0}(t)$  be a solution of (5.1). It is not difficult to see that

$$\bar{x}_0(t) = \frac{Y_1'}{t+1} + (\gamma Y_1 - Y_1') \frac{e^t}{t+1}, \ t \ge 0,$$

is a unique solution of (5.1). Assume that  $\bar{x}_{ij}(t) \equiv \bar{x}_{i,j}(t)$ ,  $i, j = 0, 1, \dots, N$ ,  $1 \leq i+j \leq N$ , respectively, are the solutions of the following integral equations

$$x_{ij}(t) = q_{ij}(t) + \int_0^t \bar{k}_0(t,s) x_{ij}(s) ds, \quad t \ge 0;$$
  

$$i, j = 0, 1, \cdots, N, \quad 1 \le i+j \le N,$$
(5.3)

in which

$$q_{10}(t) \equiv q_{1,0}(t) = -1 - \int_0^t \bar{x}_0(s) ds, \quad t \ge 0,$$
  

$$q_{01}(t) \equiv q_{0,1}(t) = -\frac{Y_1'}{t+1} - \frac{t+2}{t+1} \int_0^t \bar{x}_0(s) ds, \quad t \ge 0,$$
  

$$q_{ij}(t) \equiv q_{i,j}(t) = -\int_0^t \bar{x}_{i-1,j}(s) ds - \frac{t+2}{t+1} \int_0^t \bar{x}_{i,j-1}(s) ds, \quad t \ge 0,$$
  
(5.4)

 $i, j = 0, 1, 2, \cdots, N; \ 2 \leq i + j \leq N, \ (i, j) \neq (0, 1), \ (i, j) \neq (1, 0).$ Let x(t) be a solution of (2.1). Then  $\bar{y}(t) = x(t) - \sum_{0 \leq i, j \leq N, i+j \leq N} \bar{x}_{ij}(t) \alpha^i \beta^j$  is a solution of the following integral equation

$$\bar{y}(t) = E_N(\alpha, \beta, t) + \int_0^t k(t, s)\bar{y}(s)ds, \ t \ge 0,$$
 (5.5)

where

$$E_N(\alpha,\beta,t) = -\sum_{0 \le i,j \le N, \ i+j=N} \left[ \alpha + \beta \frac{t+2}{t+1} \right] \alpha^i \beta^j \int_0^t \bar{x}_{ij}(s) ds, \ t \ge 0.$$
(5.6)

Then we have the following lemma.

**Lemma 5.1.** There exists the function  $\overline{\Psi} \in C(\mathbb{R}_+)$  independent of  $\alpha, \beta$  such that

$$|E_N(\alpha,\beta,t)| \le \bar{\Psi}(t) \left(\sqrt{\alpha^2 + \beta^2}\right)^{N+1}, \quad t \ge 0.$$
(5.7)

*Proof.* The proof of Lemma 5.1 is as follows. We have, for all  $t \ge 0$ ,

$$|E_N(\alpha,\beta,t)| \le \sum_{0\le i,j\le N, \ i+j=N} \left( |\alpha| + |\beta| \frac{t+2}{t+1} \right) |\alpha|^i |\beta|^j \int_0^t |\bar{x}_{ij}(s)| \, ds.$$
 (5.8)

Note that

$$\left( |\alpha| + |\beta| \frac{t+2}{t+1} \right) |\alpha|^i |\beta|^j \le \left( 1 + \frac{t+2}{t+1} \right) \left( \sqrt{\alpha^2 + \beta^2} \right)^{i+j+1}$$

$$\le 3 \left( \sqrt{\alpha^2 + \beta^2} \right)^{N+1}, \quad 0 \le i, j \le N, \quad i+j=N, \quad s \le t.$$

$$(5.9)$$

So

$$|E_N(\alpha,\beta,t)| \leq 3 \sum_{\substack{0 \leq i,j \leq N, \ i+j=N}} \int_0^t |\bar{x}_{ij}(s)| \, ds \left(\sqrt{\alpha^2 + \beta^2}\right)^{N+1}$$
  
$$\equiv \bar{\Psi}_*(t) \left(\sqrt{\alpha^2 + \beta^2}\right)^{N+1}, \ t \geq 0.$$
(5.10)

The main result of this section is the following.

**Theorem 5.2.** There exists the function  $\overline{\Psi}_* \in C(\mathbb{R}_+)$  independent of  $\alpha, \beta$  such that

$$\left| x(t) - \sum_{\substack{0 \le i, j \le N, i+j \le N}} \bar{x}_{ij}(t) \alpha^i \beta^j \right| \le \bar{\Psi}(t) \left( \sqrt{\alpha^2 + \beta^2} \right)^{N+1}, \quad t \ge 0, \quad (5.11)$$

where  $\sqrt{\alpha^2 + \beta^2} \leq 1$  and  $\bar{x}_{ij}(t)$ ,  $i, j \geq 0$ ,  $i+j \leq N$  are defined by (5.3), (5.4). *Proof.* We have  $\bar{y}$  satisfies the equation

$$\bar{y}(t) = E_N(\alpha, \beta, t) + \int_0^t k(t, s)\bar{y}(s)ds, \ t \ge 0.$$
 (5.12)

It implies from (5.12) that

$$z(t) \le 2a^2(t) + 2b^2(t) \int_0^t z(s)ds, \qquad (5.13)$$

where  $z(t) = \bar{y}^2(t)$ , and

$$a(t) = \bar{\Psi}(t) \left(\sqrt{\alpha^2 + \beta^2}\right)^{N+1}, \quad b(t) = \sqrt{\int_0^t k^2(t, s) ds}, \quad t \ge 0.$$
(5.14)

Using Gronwall's Lemma, (5.13) yields

$$z(t) \le 2a^2(t) + 4b^2(t) \int_0^t a^2(s) \exp\left[2\int_s^t b^2(r)dr\right] ds, \ t \ge 0.$$
(5.15)

or

$$y^{2}(t) \leq \bar{\Phi}(t) \left(\sqrt{\alpha^{2} + \beta^{2}}\right)^{2N+2}, \ t \geq 0,$$
 (5.16)

with

$$\bar{\Phi}(t) = 2\bar{\Psi}^2(t) + 4b^2(t) \int_0^t \bar{\Psi}^2(s) \exp\left[2\int_s^t b^2(r)dr\right] ds.$$
(5.17)

Note that, with  $\alpha, \beta$  small enough such that  $\sqrt{\alpha^2 + \beta^2} \leq 1$ , the function k(t,s) is bounded by a constant independent of  $\alpha, \beta, t, s$ , because of

$$|k(t,s)| \leq \left|-\alpha - \beta - \frac{\beta - 1 - s}{t + 1}\right| \leq |\alpha| + |\beta| + \frac{|\beta| + 1 + s}{t + 1}$$
  
$$\leq 3\left(\sqrt{\alpha^2 + \beta^2}\right) + \frac{1 + s}{t + 1} \leq 4, \quad \forall t, s \in \mathbb{R}_+, \quad s \leq t.$$
(5.18)

Thus

$$b^{2}(t) = \int_{0}^{t} k^{2}(t,s)ds \le 16t, \quad \int_{s}^{t} b^{2}(r)dr \le 8\left(t^{2} - s^{2}\right).$$
(5.19)

Consequently

$$\bar{\Phi}(t) \le 2\bar{\Psi}^2(t) + 64t \int_0^t \bar{\Psi}^2(s) \exp\left[16\left(t^2 - s^2\right)\right] ds \equiv \bar{\Psi}_*^2(t), \quad \forall t \ge 0.$$
(5.20)

It is obviously that  $\overline{\Psi}_*(t)$  is continuous in  $\mathbb{R}_+$ , independent of  $\alpha, \beta$ . Theorem 5.2 is proved completely.

Acknowledgements. The authors wish to express their sincere thanks to the referees and the Editor for their valuable comments and remarks.

#### References

- S.I. Chernyshov, A.V. Voronin and S.A. Razumovsky, The Problem of Modeling of Economic Dynamics (new version) (2010). http://arxiv.org/ftp/arxiv/papers/1003/1003.4382.pdf
- S.I. Chernyshov, V.S. Ponomarenko and A.V. Voronin, The Problem of Modelling of Economic Dynamics in Differential Form, (2008). http://arxiv.org/pdf/0804.3658.pdf